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. A+
Series : GBM/1/C coteno.  DT/1/3
N TR SIS Sl ST-YRAFT & TE-TE
at W v ford |
Roll No.

Candidates must write the Code on
the title page of the answer-book.

® UG H A b 38 THA-TH A HfGd T3 11 % |

®  UW-UA H gIied g1 h 3TN ST 7T FiE 17 1 B IT-JETHT o TE-T58 T o7 |

® AT HL A foh 3 TRA-TAH 26 TR |

o YT T H I TG T& H A TEet, T o 31 1avd o |

o  IH YH-TA I UG o 1T 15 Toe o1 o oo o 2 | WA -9 T Tt gats | 10.15
ol foham M@ | 10.15 S & 10.30 St G BT hadl - I Ugh 37 39 3af &
A o IT-GfEdehT T IS IR el ford |

. Please check that this question paper contains 11 printed pages.

o Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

. Please check that this question paper contains 26 questions.
. Please write down the Serial Number of the question before attempting it.

o 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this

period.
i)
\_rﬁ]:(‘)&f(.l)-l:Y (Theory)
Freiie @@ -3 g2 SYFHTT FH - 70
Time allowed : 3 hours Maximum Marks : 70
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GTHT 3337
(i) F-97 5 qia @vel & 26 397 10 7T & | @3t 3v7 31 8

(i) @ISA H o7 G 5 33 TG-FRIT J97 &, FedF Fo7 1 36 F1 8 |

(iii) @Y B 4 I97 G&IT6 T 10 TG-3IT0T To7 JHR [ & 8, Fe9eb F972 b1 FTE /|

(iv) @USC 4 Fo7 G&IT11 822 FTG-ITRIT 397 FBR 1l & &, 9% J973 3% HT & |

(v) @USD T I G&IT23 o STENRT Jo7 4 37H] HT 8 |

(vi) GUSE T 97 GEIT124 G 26 G-I J97 &, I J97 5 3H BT 8 [

(vii) F¥-97 § GHI T HI3 96T 7871 8, 57 412 3791 q1c7 T F97 H, 3 371 qIct Tb o7
g 37 5 371 aret @t il 3ol & ikt g faeey 157 T 8 | 3w gianef w1 0d

71 @ g1 fahetl 7 & Big U J97 57 BT S |
General Instructions :
(i) There are total 26 questions in five sections in the question paper. All questions

are compulsory.

(ii) Section A contains questions number 1 to 5, very short-answer type questions of

1 mark each.

(iii)  Section B contains questions number 6 to 10, short-answer type I questions of

2 marks each.

(iv)  Section C contains questions number 11 to 22, short-answer type Il questions of

3 marks each.
v) Section D contains question number 23, value based question of 4 marks.

(vi)  Section E contains questions number 24 to 26, long-answer type questions of

5 marks each.

(vii)  There is no overall choice in the question paper, however, an internal choice is
provided in one question of 2 marks, one question of 3 marks and all three
questions of 5 marks. In these questions, an examinee is to attempt any one

question out of the two given alternatives.
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gus — A

SECTION - A

. GTENTS STAT o FHi o foTq & 3Tamd UateHi < 1 fafe | 1

Name the two enzymes that are essential for constructing a recombinant DNA.

2. 38 Tt 1 9 TRy foad wisHifeay & Siea T 1 = gl 2 | 1

Name the host where fertilisation occurs in the life cycle of Plasmodium.

3. 39 faer o A fafaw S feri # v X -TurgE’ & 31919 % SR BT § | 1

Name the disorder caused due to the absence of one of the X-chromosomes in a human

female.

4. T TS AT S o TT oh AR T b WY o Toheal Qf AT hl T S8 feh
ST HEA + 319 TANT H fohaT | 1
List any two characters of Pea plants used by Mendel in his experiments other than

height of the plant and the colour of the seed.

5. U HIR Sl B 94 61 (i) fog@sa aun (i) geper fafer § T 1 Ueh-Teh 3ere
i | 1

Provide an example each of single celled organisms which reproduce by :
(i)  binary fission
(i) budding
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wig - B

SECTION - B

6. “freha 3T T €l Teh W B |7 Teh ISTET Shi TERIAT & WS | 2
“Niche is a part of a habitat.” Explain with the help of an example.

7. Uh U SHfdd o 7T TS qAT AT I &1 Bed & | 997 379 SHE T8Ad & ? hRuT |lgd
T I hT gfse hifT | 2

For a layman, both apples and mangoes are ‘fruits’. Do you agree ? Give reasons in
support of your answer.

8. Torell fafire Tm < wfa swifia wfren foefeaa e # d-fienm) iR - i
fHeRT T3 | 2

State the role of T-lymphocytes and B-lymphocytes in developing acquired immunity

against certain diseases.

9. Tordt U T 1 A qUT 3T YWTH FATST ST AT 3N & €9 H 3= fehAT ST
7, Ui 3 AT ITANT ¥ Frofear a2 Fy 6 gHen 3a— Bl & | 2

Name and state the effect of a drug that is often medically prescribed, but its overuse
leads to drug dependence and drug abuse.

10. TR UfshaT o G fepeft fafimse m-31ReAT & 5" fF R W AUG ehe derm 37 ferit @

UAG Jehe i YfHehT ol Ieci@ <hiT | 2
HAYCT
‘SugIEd’ qem ‘areifies’, A g Sl e forivard § | smen Hifvw | 2
State the roles of AUG codon at 5’ end and UAG at 3’ end of a certain m-RNA during
translation.
OR

‘Degenerate’ and ‘Universal’ are salient features of a genetic code. Explain.
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g ug - C

SECTION -C

11. GehareR TeiEn (ELISA) 31 I &9 SA1ST, | T o e o §¢ aiieni ol 3TUeT 39 fafer =1
T T € ST R 7 3

Expand ‘ELISA’. Why is this method preferred over conventional methods of

diagnosis of diseases ?

12. form Sew &1 s 1 W@t his 28 wH wenfud foman Sirar @ 2 26 o ey & fore fafi=
SATETIh TN 1 U HIfT | 3

State the objective with which a dairy farm is set up. Describe the essential steps to be

followed for dairy farm management.

13. TR (gfET) eft qon geeft e g stean sus ? 31ae 3T S gfee Hifsre | 3

Are humming birds and fish regulators or conformers ? Give reasons in support of

your anSwer.

14, (a) Wit *fEe AMGRAT (PCR) § AT ST Uit 1 3191 o TifeTrist
3TN 1 TohT ST 8 7 Sh TR o |l SiTd ohT AT feIRay |
(b) PCR &1 39T fepafeTu gIaT 8 7 3

(@) Why is Taq polymerase used instead of ordinary DNA polymerase in
polymerase chain reaction (PCR) ? Name the source organism of Taq

polymerase.

(b) Whatis PCR used for ?
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15.

16.

17.

18.

19.

(a) BRA Shifd T8 ? 37 TN BT Soi® HIfSTT fSh HROT T8 TH BT T |
(b) 3T AR 1 W feray feeh JmEl & Wi § 71 <Al s fohe w1 forepre wvia &t

G |
(a) What is green revolution ? Mention the steps that led to it.

(b) Name the scientist whose contribution led to development of semi-dwarf wheat

varieties in India.

ISR : FAAING T 37 ThR & ITAN & | STHATIehd: TUTAHT d1ei i 370 @al
T I o foTu 3mma fopamT o6t fohe SehR Twemd ¢ <fiF qeheiTd el SidTd §T J9ETST |

GM plants are useful in many ways. How would you convince farmers to grow GM

plants on their field ? Explain giving three reasons.

TR fowagmehar auT Aigl Iyl % Th-Tsh 30 i Feral § fom faiom
forafaty st =xmean SifT |

Explain with the help of an example each, male and female heterogamety mechanisms
of sex determination.

TS § ek R RN o W T 3 % fotfan |

Name the male accessory glands in humans and write their functions.

Hed gRT HX o Tiei T fohT 1T SRINTH o STEW S A + SrErfhan W fgaest shig &
1 3 Hed  F, TR 1 STUE F, 1l o 30Td § §gd A4 for=ier ST g3 | 30
T B YTed i St BT U 3ok |TRR | 9 SR & 7

When Morgan conducted dihybrid cross on Drosophila like Mendel did with pea

plants, the F, ratios deviated significantly from that of Mendel’s F, ratio. Write the

explanation Morgan and his group gave to the observations they obtained from their
experiment.

57/1/3 6

Downl oaded From : http://cbseportal .con

Court esy

CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl

20. B LA S5 3OS A Ik HT DM HLd & | A ITIH ITE0N h! HERIT I 39

HHSATST |

Some microbes act as very good biofertilisers. Explain with the help of three suitable

examples.

21. (a)

(b)

(2)

(b)

(a)
(b)

(a)

(b)

TS | TG b o foTu sesrentor 1 ush fafer w1 a1 forflaw |
%Y UF Sl § SRt sk o 9 shifsr |
37T

w1 Tt T U1 GHH 3ET q%h SeHeH Wd 8 7 39 Il gfse & foe @t
3T T |

AT Sehi W T VT o1 HUSROT & TRl STaT & 7 34 Siehi B AT SHUT <h HUSOT
329 AT |

Name a terminal method to prevent pregnancy in humans.

Describe the procedure of the terminal method carried in human male and

female.
OR

Do all pollen grains remain viable for the same length of time ? Support your

answer with two suitable examples.

How are pollen grains stored in pollen banks ? State the purpose of storing

pollen grains in these banks.

22. g fo@ &t frafafy =t faar @ sam & fow eifda 3 Sugeaar, Satsifadar qen
T’ Teq] ST ITART fohd wew H fopa ? = hif |

Write in what context did Darwin use the terms ‘fitness’, ‘survival’ and ‘selection’

while elaborating on the mechanism of evolution.
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g —-D

SECTION -D

A THY § Iufire 1 e aur it yaue U 9 TS ® | HS1-ha 6

3cITEH U 39hT HUeH Ush 91 @aU &, S8 Tiomeesy qaienviie T a9t 3o~
BT S | S TTeRtor A1 T Gweshul A1 STTSe! ohl @ T ® | g 3TeEmE @ foh,
AT 39 914 hi & fob Ao -Tfleptor 3w 3af3rset o6t w1 fehan ST |

(a) Sta-Treptor 9 safdre & qa | Sta-Teieen srim Smfine & Jagd ™
ferery e i 2 ¢ =mwen Hifre |

(b) 3T fIEITer & SohI-o1e 1 TS BIH o ATd U & UM ol gorma gitwe, f=g
e & 7R § weh SR Y rufire feew’ % A # M B 31 first |
< SR =T |

Waste Disposal and Waste Management poses a major problem in present times.
Generation of garbage and its disposal is a major threat and consequently leads to
severe environmental issues. The problem is not with biodegradable and recycled

wastes. We realise that the need is to reduce non-biodegradable wastes.

(a) Why is there a great concern of managing non-biodegradable waste in

comparison to biodegradable waste ? Explain.

(b) As a member of eco club of your school, suggest any two ways that you will
discuss with your fellow members to organise for a “Zero garbage day” once in a

month in the school.
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s - E
SECTION - E

24. (a) TSI ST qUT FGfTheddl Th-gEt & fohe TR =1 § 7 T o Th-T
3CTELUT Shl TR § SHTEAT iy |
(b) Tereht TEmaIfTeR 310 <6 STIAT Tered < 9 H R T W T BF-HA = wd [
A =TfEe ? 3+2=5

YT

T qAT BT gRI SRATTd qHehed T 9aTsq | TH.TA. THeR 3 S i 98mar § 36

fore TeRR f&g Teparm ? =TT SHINT | 5

(a) How are polygenic inheritance and multiple allelism different ? Explain with the
help of an example each.

(b) List the criteria a chemical molecule must fulfill to be able to act as a genetic

material.
OR

State the hypothesis proposed by Oparin and Haldane. How was it experimentally
proved by S.L. Miller ? Explain.

25. U uTfefoe o 1 fifie # guiar @ ¢ yehfd o fi= bR & 9 et fitfie =
UM T o Teh—Teh GG hl TETIAT § 1T | 5
rerat
(a) T I Afgepyut nfafafern, S& fop faeeft sferni w1 smskmwr, fa@e qen
T &t = Sa-fafaean i af =1 @f@ w2 | Th-1h e 6t qeEa §

T8 MM g I |
(b) Sa-fafagar & @ & (i) 3R .. (JUCN) i A g a0 (i) Be-¥id
% & I Io0i@ HITT | 5
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What does an Ecological Pyramid indicate ? Explain the three different types of

upright Pyramids in nature with the help of an example each.
OR

(a) Indiscriminate human activities such as alien species invasion, fragmentation
and habitat loss have accelerated the loss of biodiversity. Justify by taking one

example for each.

(b) State the importance of (i) [IUCN Red data list and (i1) Hot spots in conservation

of biodiversity.

26. (a) G YR HT T3 SIS T 36 MY U9 W @og i fafir= aeanati @i Aifeha
HITSTT |

(b) Torat o Feem wehm i s i | 2+3=5
Jreran

(a) T TS WRTR i STIEI-HIC H ANRGd =7 s FHefafaa i
AR shIFST :

(i) SIS
(i) <den
(iii) r=aefifaey
(iv) WA

(b) T T goai bt wreaforeh fersiwanati o1 o Hifer | 2+3=5
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(a) Draw a diagram of a human sperm. Label the different components in its head

and middle piece region.
(b) Explain the process of fertilisation in human female.
OR

(a) Draw a schematic transverse section of an anther of an angiosperm and label the

following parts :

(i)  Sporogenous tissue
(i) Tapetum

(i11)) Endothecium

(iv) Middle layers

(b) Describe the special characteristic features of wind pollinated flowers.
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